Level A

1. Countingon 4 from 7 is ...

1 2 3 4 & & T & 9 10 M 12 13 14
A)
B)
C)
D)
2. Counting back 3 from9is ...

1 2 3 4 5 & T & 9 10 M 12 13 14

A) 3
B) 6
C) 9
D) 12

3. Countingon 8 from6is ...

i 2 3 4 5 & T &8 9 W0 M 12 13

A) 8
B) 10
C) 12
D) 14



4. Counting back 9 from 13 is ...

1 2 3 4 5 & T & 9 10 M 12 13 14

A) 22
B) 9
C) 4
D) 13

5.  Which of the following problems does the number line show.

1 ¢ 3 4 5 & T 8 8 10 M 12 13 14

A) 5+4
B) 5-4
C) 9+5
D) 5+5

6. Which of the following problems does the number line show.

1 2 3 4 5 & 7T & 9 W M 12 13 14

A) 10+7
B) 7-3
C) 10-3
D) 10 +3



10. If the temperature increases by 3 degrees then it would be 16°C.

e

A) True
B) False



Level B

1. Counting on 5 from 22 is ...

2 T 23 ¥ 3B W 7 W 1% W M} n 3B M

A) 27
B) 17
C) 23
D) 21

2. Counting back 4 from 32 is ...

2 2 23 ¥ 35 M/ 7 W 1% W M N 3} M

A) 36
B) 28
C) 32
D) 40

3. Counting on 9 from 24 is ...

2 2 23 ¥ 35 M/ 7 W 1% W M N 3} M

A) 34
B) 33
C) 32
D) 31



4. Counting back 6 from 33 is ...

2 2 23 ¥ 35 M/ 7 W 1% W M N 3} M

A) 41
B) 34
C) 27
D) 21

5.  Which of the following problems does the number line show?

T,

21 I 23 ¥ 3B W 7 W 1% W 3} N 3B M

A) 33+7
B) 26-7
C) 26+7
D) 26 +8

6. Which of the following problems does the number line show?

—

21 1 23 ¥ 3B W I7 W 1% W 3} N 3B =M

A) 32+8
B) 32-8
C) 24-8
D) 24 +8



